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Answer any four from Question no.2 to 8
Question no. I is compulsory.

t. r,q=['.'..l .u =l', 1l v.rin, that UBI' = s'1-,
l-J +.1 L-r )l

2. If Ais a2x3 Matrix given by

(1 2 3\
A -l I r1A1l'2 4 ol,find

3. Solve by Matrix Method.

x+2y-32=-4
2x+3y+22=2
3x-3y-42=ll

4. Reduce to partial fraction.

Full Marks: 70

Marks:50

(5+5=10)

(10)

(10)

(10)

, : \ x3 .. x2-3x-2
' (x-d.)(x-r)(x-c) '(x+t)(x2+x+112

5. Expand using Maclaurin's expansion log{l-log(1-x)} in powers of x upto x3.rf
f(x):0 be a reciprocal equation of degree n and of the first type then (x)=xzl11;

(5+s:10)



6. Solve by Cramer,s Rule. (10)
x+22=7
3x+Y=5
2y *32 = -5

7. Suppose the Matrix A is defined as above, i.e. (10)
(to z\o=1, 

-o)

Suppose .fG)=2x' -3x+5. Find "f(.4). If g(x)=x2 +3x-10What is s(_l)?

8. Prove that (10)
zZ = lzl' y6 lz,z,l = lz,llz,l
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AB =?

(b) AB=(r4 2r)

1r+)

@) en=lt, 
I

IrJ

2. If a, fi,y be the roots of cubic equation x3 + pxz + qx + r : o,then ) u2 is

(o)p'*2q-s (b)p'-2q=o
(")p' - Q: o (d) 0

(a) 2,1,1 (b) 1,0,1 (c) 2,1,1

2016112

Marks - 20

1x20:20I. Choose the correct answer:

r. rrr = 0 z 3),r=lt, 1l, rn*
[: r)

@1 
AB =(t+ 11)

/r +)

(c) ts= 
I 
t, 

I

[3)

4.

5.

6.

If a function remains unaltered by an interchange of any two of its variables then it is

(a) Singular function (b) Symmetric function
(c) Asymmetric function (d) Cannot be defined

What is value of 1+ a + atz =?

(a) 0 (b) 1 (c) -1 (d) s

If two roots of the equation Zx3 - x2 - LBx * 9 = 0 are equal in magnitude but opposite

in sign, then the roots are

(d) 3,- 3,;

If .,i=[l'. ]: ",'l,r=1..' :1.) then
[+' 5- o' )' lto 25 :0,]

(a),t=s (b) d+a
(c) m = s-t (d) none of these

If a be a root of order 3 of the equation xa + bxz
-Bd ,.Bd

ra) :i; (b); (c) 1

*cx*d=0,thena
(d) 0

is7.



(+ ,)8' l, ,l\- -./

(a) x=t

is singular for

0 (b)x: I (c) x : -10

9. If a, P,y be the roots of the cubic equation aox3 * arxz * a2x * az - 0, then

(a)X":-Z
(c)Iu-0

10.Two matrix-{ and B .un be multiplied if
(a) Column number of A: Row number of B
(b) Column number of B: Row number of A
(c) Both are same order
(d) Both are not same order

1 t.The standard form of a cubic equation aox3 * ayxz * a2x I a= -- 0 with binomial
coefficient is

(d) x=-1

(u) ,' t 3H2z + 3H
(c)z-0

l21f Z =3+-ti JhenZ=?
(u) z:3-4i
(r)z:-3-4i

13.The series expansion 1

(a) cos a
(c) tanu

(b)r " -*(d)Ia-L

*G=0 (b)r'+3H*G:o
(d)z - !

(b)z =-3+4i
(d)z=3+4i

A2 q.4 ^.2rL

- 
" 
+; - .. .... +(-1)" h,+

(b) sin a
(d) None of these

... ,.. is the expansion of

14.what is the value 
"t l*l =,

1

(u) fi
(c)1

15.The value of cos x is

rd)(r'* + "-t*)
@):@'* - e-i*)

16.IfZ : x + iy, polarform of z is
(u) Z =r(cos0+isin0)
(c) Z =(cos0+isin0)

(a) - 1, @,a2
(c) l,-a,-az

17 .Any positive integral power of al is equal to

1(b)-o
(d) None of these

(b) ri*
(d) None of these

(b)Z : r(cos? - I sin d) ;
(d)Z = (cos0+sind)

(b) l, @,@2

(d) 0



lS.What is the value of ir,*, =?
(u)-i (b) I (.) ,' (d) i'

19.The square root of - i
(r) + ('-')

l2
(c) 1+i

2g.^[-t = I
(a) i (u) i'

is

(b) + ('*')
,/z

(d) Cannot be defined

(c) -i (d) i'

*****


